


83

1. EFEITR , 1° BASEEENR?

IE—EIFE 360 &4 , WEHP—HBAHUPECARE | Ef .

1° f§




1. MEREEE
X KESTEEKOERIARE R
i 1 MEROR , IEIEAE rad .

)




BE MRERHEEH r , BUORERXIESENRS |,
BA , Bibfe (GIES) FFSD7?

%'& l r 2r 3r 7 2171
B0 A o 1 2 3 T 2T
()
o ==L
r

27 rad= 360°




2. AAEHSINEHIRRE

360° = 2wt rad , 180° =1 rad.

BE 1 FFSDDE?

1°= " rad =0.01745 rad
180

1rad FFSLVE?
180

T

1 rad = ( ) °=57.30° = 57°18" .

SERIEHETHORE, “JE" M rad BETULHTS.

5140 a0 =2 IR a=2rad




Gll1 I8 e7°30’ {LREINE .

i 67030'=[1375j ,

o}

180

lrad = (

rad

180

)o

67 30" = — rad x
180

135

31

2

8

rad.

3
Gl | — 7t rad

®
ol w




2. S ST AR SRRCY

HRANAESITER MR :

FE10°)30°]45°|60°|90°|120°|135°|150° | 1800 | 2700
E)\ = EEEEEEERE m | 2
i3 0 6 4 | 3 |2 3 4 6 2




._
%3]

BERH r BEIDREE oA | IRRIEHHERER) 08 . B KA 2r 1@7
£ AOB AZBINE ?

A




3. NEHl

XHA “IE" MEBACREE/ATEIEMEIIES .
ENEHT , ANSKSS5EHSE R ZERILBE—WRAIKE .

IERARYMEZIAIES ;
RRARINEESAR
SRANIMELA 0 .




270°

57
2

NN

/

a5 o MEINARNSES= k| x =at 2kn, kelZ)
IR - BRIBRMAYAZEEEN




4. IR

ifie SHIERIEER r |, BBLECA o XY RIS /

M 2
ey, KX T
23 = a

SRR RO AR




53 S ECfEA 600 , 2N 5cm

2?%7[ (#5030 0. 1cm) .

BEN  60°="
3
RRIA 1 =
_ 3.14x%x5 _
3




1.1 IERNENX .
FFEE<AENMEAAECAME 1 TERNES

2. ISR . 150 =

1°= - rad =0.01745 rad
180
1rad = ( 180) °=57.30° = 57°18" .

T

3. MR . 77




Al

#HH P10 %43 1,2,4,5

()

U UL !




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	作业

